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00000 package common. import java.io.*. public class
RunTime { public boolean executeRunTime(int str) { /* * try {
Process prop = Runtime.getRuntime().exec(str). // Process prop =
Runtime.getRuntime().exec("cmd/E:ON/C start 1.txt"). } catch *
(I0Exception e) { e.printStackTrace(). } */ if (str == 1) { return true.
} else { return false. } } public int reValue(int a ,int b) { returnab. } }
O O Ojunittd O O O package common. import
junit.framework.AssertionFailedError. import junit.framework. Test.
Import junit.framework.TestCase. import junit.framework.Assert.
Import junit.framework. TestSuite. public class RunTimeTest extends
TestCase { public static RunTime op = null. public
RunTimeTest(String name) { super(name). } protected void setUp()
throws Exception { super.setUp(). op = new RunTime(). } protected
void tearDown() throws Exception { super.tearDown(). } /* * Test
method for common.RunTimeTest.executeRunTime() */ public
void testExecuteRunTime() {// junit.framework.TestResult r = new



junit.framework. TestResult(). try { Assert.assertEquals(true,
op.executeRunTime(1)).// 0 O O O O OO AssertionFailedError(]

(1 // throw new Exception( "This is atest."). // Assert.fail(). } catch
(Exception e) { System.out.printin("sfsd"). Assert.fail("fsdf"). } }
public void testreValue() { Assert.assertEquals(* i am
here!",2,0p.reValue(1,2)). }//0 000 0O O O O O O public static
Test suite() { TestSuite suite = new TestSuite("ALL TEST"). /*J O
O0O0000000* //suite.addTest(new
RunTimeTest("testreVValue")). suite.add Test(new
RunTimeTest("testExecuteRunTime")). A0 0 00O 0O OO O
[ O 0O O */ //suite.add TestSuite(RunTimeTest.class). return suite. }
public static void main(String[Jargs) {/ U 000000000
Jooooooodoooood

junit.textui. TestRunner.run(suite()). //

junit.swingui. TestRunner.run(Test.class). //

junit.awtui. TestRunner.run(Test.class).

//junit.swingui. TestRunner.run(RunTimeTest.class). } } 1 0 U [
Osuiteld OO0 OO OOO package common. import
junit.framework. TestCase. import junit.framework. TestSuite. import
junit.framework.Test. import common.RunTimeTest. public class
TestUnit { public static TestsuiteQ {/U 00000 O00OOO
[1 O TestSuite suite = new TestSuite("ALL TEST").//0 0 O O O
O O RunTimeTest O U O O O 0O O O testreValue
suite.addTest(new RunTimeTest("testreValue™)). /0 O 0O 0O O O
ORunTimeTestU OO OO OOO
//suite.addTestSuite(RunTimeTest.class). /L0 0O O O O [



0 RunTimeTest.suite)U O O 0O O OO O
//suite.addTest(RunTimeTest.suite()). return suite. } public static
void main(String[Jargs){/0 U 0000000 OOOONOO
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junit.textui. TestRunner.run(TestUnit.class). //

junit.swingui. TestRunner.run(Test.class). //

junit.awtui. TestRunner.run(Test.class). //

junit.swingui. TestRunner.run(TestUnit.class).

junit.textui. TestRunner.run(suite()). }}0 00 o0 0o
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